
Time: 10 Minutes Paper G.Science 7th Total Marks: 10

1st Month, 2nd Week, 1st Day Syllabus:Unit # 1:  Transport of food (translocation)

and Stomata

Q.No.1 Encircle the correct answer from the following choices. (0.5×6=3)
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1. Food prepared by photosynthesis in __________ enters the phloem through

companion cells. ''''''''''''~~~~»»»»gggg™™™™ŠŠŠŠ{{{{ppppggggZZZZuuuu
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(a) Roots azV (b) Stems àV (c) Leaves êV (d) Epidermis Z3egé
2. Xylem tissue consists of _________ joined end to end with no end walls to

form a continous tube. 
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(a) Companion cells
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GEû (b) Guard cells Çgeû

(c) Root cells gzû̂ (d) Dead cells %Š{û

3. Phloem is composed of: jjjjìììì''''''''ÅÅÅÅµµµµƒƒƒƒCCCCììììXXXX
(a) Sieve tube ±k[ (b) Companion cells
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(c) Phloem parenchyma jìcy»[ (d) All of these tÓx
4. ______ is a type of permanent tissue forming major part of ground tissue in plants.
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(a) Parenchyma tissue cy»[A (b) Collenchyma tissue »Þ»[A

(c) Dermal tissue egïA (d) Vascular tissue z$h½ð G°A
5. A large number of stomata is present in_______ of the leaf. 
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(a) Upper epidermis !*ÑðZ3egé (b) Lower epidermis ik,,Z3egé

(c) Endodermis Zhzegé (d) Mesophyll cell öz…−

6. Stomata helps in absorption of_________ and release of oxygen gas in the

environment. ::::wwwwÐÐÐÐ''''''''ÃÃÃÃ____....[[[[™™™™ääääZZZZzzzzggggââââjjjjwwww~~~~MMMMxxxx’’’’ÆÆÆÆZZZZyyyyZZZZ`̀̀̀~~~~ææææŠŠŠŠ™™™™@@@@****ììììXXXX

(a) Nitrogen gas **>zX’ (b) Chlorine gas ³g+’

(c) Sulphur dioxide gas ÷eZðM‚à’ (d) Carbon dioxide gas »g0eZðM‚à’

Q.No.2. Write the short answers. (2<<<<2=4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i)  Define Stomata. ::::wwwwÐÐÐÐÅÅÅÅ°°°°pppp™™™™,,,,XXXX
(ii) Write the function of parenchyma tissue. ccccyyyy»»»»[[[[AAAA»»»»»»»»xxxxKKKKXXXX
Q.No.3. Write a note on translocation. (3) RRRR,,,,ZZZZYYYYmmmm6666,,,,ZZZZqqqq----ââââ^̂̂̂KKKKXXXX
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